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#1/usr/bin/python3
import signal
# try to i1gnore SIGKILL signal
# 1st arg 1s target signal to assign handler
# 2nd arg is signal handler
signal .signal(signal .SIGKILL, signal.SIG_IGN)
while True:
pass
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Traceback (most recent call last):
File "killignore.py”, line 9, in <module>
signal .signal (signal .SIGKILL, signal.SIG_IGN)
File "/usr/lib/python3.8/signal.py”, line 47, in signal
handler = _signal.signal(_enum_to_int(signalnum), _enum_to_int(handler))
OSError: [Errno 22] Invalid argument
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sysctl kernel.sched_latency_ns
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sudo cat /sys/kernel/debug/sched/latency_ns
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mmap 000000000000 000000o0o00oooboobooobobooobooaon

7fb031a90000-7fb033e01000 rw-p 00000000 00:00 O

->

7faff1a90000-7fb033e01000 rw-p 00000000 00:00 O
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(/ (- (- #x7fb031a90000 #x7fb033e01000) (- #x7fafflag0000 #x7fb033e01000)) 1024.0 1024.0) => 1024.0
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fallocate -1 1G loopdevice.img
sudo losetup -f loopdevice.img
losetup -1

iééetup -d /dev/loop0 # loop0 0D OO O OO
losetup -1
rm loopdevice.img
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